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Q1) (Bx %, Q3) Sl that the gonoralised Holdor s tnequality holds

For Wty nxz, Tor W‘/ n Mtg/u\ol& Lomctlons 5y e B [Ut,b]—> @

Sor all Pupast svoh that %+~~-++=\,
15,5, 5. < e ST (R Y
Sol) Pove by nductlon gn n22:
Base step (n-m The L/ usval Haler 5 ineguality Sor Smetions
BH9) <(EBFT (RIS [Puck e Leetwe vote Ch.2 Tiw 2.10)
Tndetiv Step Suppose twve Foy 1=\ s\awﬁvﬁ Te, For n=n+1
Ghen 5. K, as obove P,y Pun>1 such that T+ p Aol
By Buw skp opplyby to F= 59 = 5% PP q5Fm
LHS =PI ful < (L6 (1155
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82)(Ex#, Q10) iy 1<p <roo, define = {7 o 6R s Eulonf” <rea

i
owd  efing P~ norm \\”PKP—’ R )a/ HQHP = (;Zl, l%lF)P
Show Fhatt MP/HF) Is o normeo’ spacc.
Sol ) Chack the oaxims [NL1- T3] For normad spaess
D\/l] \/ a elf ) HO(,HP :(g lath)P 20 , whith
(=0) holk & V¥n, lul=0 & a=0
00 A 00 1
IN2): Y aef VaeR, |daly = (Sldal’) = (21l lar)
o Iz
=l (Z Y = 1albon,
IVER AN é}ip, VN €N, define 0™ (0,0, L [L;.,...ILN)ERN
N 1
(:’ Lol ) = |0 b’“”“ré e[l 1 b‘"’llP (Ly Mi|n\<owls\]l<{ inagality o (pa'*fu-u,,)>
See also Note 2, Bxaunple 2.3
= [ Z 10 )43 P <ol + bl !
[ Toke N+ oo Ha+HlP £ llﬂl”P+HL”P

M”,H-H,,) s a VLormeal space.



03) (Ex. 4, Q7) Under some notations as in 02,
Show that Foy any 0<p <t (L 1) s NOT o normed spoce
So\) Showing IN3) is fale : Chane 0= (L0, 5 b=10,1,0,.,
thae Dol = 2=l 5 Jlosbl, < (1% 1) = 2°
" O<pel = Jasklly= 2 >a= llodlp + bl
CoIN3) s Fale | hene (L0 11R) ks NOT & nomed space.

M Eko-c'ﬂ\/ 'EJm, Sawe “tgumw\-b S]’lqws 'Hlm't For ow\)' nz2, 0<F<[ ,

UE«,H'HP) s NOT o novmed space .



